## RESOLUTION NO. \_/7-15 CITY OF CENTERVILLE, OHIO

SPONS	ORED BY	COUNCILMEMBER	toul	6 restam	ON THE
164	_DAY OF	March	, 2015.		

A RESOLUTION ACCEPTING THE BID SUBMITTED BY BARRETT PAVING MATERIALS, INC., MIDDLETOWN, OHIO, FOR THE 2015 STREET RESURFACING PROGRAM (PROJECT SS-1A-15) FOR PAVEMENT REPAIR AND ASPHALT RESURFACING IN THE CITY OF CENTERVILLE AND AUTHORIZING THE CITY MANAGER TO ENTER INTO A CONTRACT IN CONNECTION THEREWITH.

WHEREAS, the City of Centerville advertised for bids for the 2015 Street Resurfacing Program, according to specifications prepared by the City, and

WHEREAS, Barrett Paving Materials, Inc. was the low and best bidder.

NOW, THEREFORE, THE MUNICIPALITY OF CENTERVILLE HEREBY RESOLVES:

Section 1. That the bid submitted by Barrett Paving Materials, Inc., of Middletown, Ohio, for the 2015 Street Resurfacing Program (Project SS-1A-15), for the bid price of \$516,900.30 is hereby accepted, a copy of which is attached hereto, incorporated herein and marked Exhibit "A".

Section 2. That the City Manager is hereby authorized to expend up to an additional \$42,000.00 to expand crack sealing and utilize remaining budgetary funds if extra work becomes necessary, making the total amount approved \$558,900.30.

Section 3. That the City Manager is hereby authorized to do all things necessary to execute a contract with Barrett Paving Materials, Inc., as stated above.

PASSED this // day of //arch, 2015.
C Mars Keyes
Mayor of the City of Centerville, Ohio
ATTEST:  Delsa (l. James  Clerk of Council, City of Centerville, Ohio
CERTIFICATE
The undersigned, Clerk of the Council of the City of Centerville, Ohio hereby certifies that the foregoing is a true and correct copy of Resolution Number 17-15
passed by the Council of the City of Centerville, Ohio on the
Clerk of Council
Approved as to form, consistency with existing Ordinances, the

Approved as to form, consistency with existing Ordinances, the Charter and Constitutional Provisions. Department of Law Scott A. Liberman Municipal Attorney

# BIDDER'S PROPOSAL

# 2015 Street Resurfacing Program

Submitted l	by: BARRETT PAVING MATERIALS INC.				
Having read the specifications and examined the drawings included herein:					
2015 Street Resurfacing Program City of Centerville, Ohio					
for the construction of said project in Centerville, Ohio, and having also taken into account all addenda issued, the undersigned hereby propose to furnish all materials and to perform all labor, as specified and described in the said Specifications and as shown in the Plans for the said work, for the following sums:					
A. STA	ATEMENT BY ALL BIDDERS:				
The spec	receipt of the following Addenda to the Contract Document (drawings and cifications) is hereafter acknowledged.				
Add	denda No. 1 Date 3-4-15				
Ado	denda No Date				
Λdo	denda No Date				
B. CO	MPLETION DATE INFORMATION				
The	bid price reflected above represents a completion date of July 31, 2015.				
c. co	NTRACT PREPARATION INFORMATION				
	bidder shall supplement proposal by supplying the following information for use in the paration of the Contract.				
NAME OF	COMPANY/CORPORATION: BARRETT PAVING MATERIALS INC.				
NAME OF	PRESIDENT: ROBERT DOUCET				
ADDRESS: 3751 COMMERCE DRIVE					
CITY, STA	TE, ZIP: MIDDLETOWN, OHIO 45005				
FEDERAL	TAX I.D. #:				
TELEPHO	NE#:(513) 422-4662				
SOUND SHIP SHIP SHIP SHIP SHIP SHIP SHIP SHIP	(513) 422-3336				
E-MAIL: PLaughman@barrettpaving.com					

# NOTE: Failure to sign proposal shall result in rejection of bid. THIS PROPOSAL SUBMITTED BY: | BARRETT PAVING MATERIALS INC. (NAME OF CONTRACTOR) | BY: | Dul | Journal | Jou

Mailing address if different from above:

D.

**EXECUTION OF PROPOSAL** 

## **UNIT PRICE SHEET**

### PROJECT: 2015 Street Resurfacing Program

THE CITY OF CENTERVILLE MATERIAL AND CONSTRUCTION SPECIFICATIONS ARE PART OF THIS PROPOSAL AND MAY BE REFERENCED FOR A MORE COMPLETE DESCRIPTION OF THE ITEMS LISTED. RETURN ONE (1) FILLED-IN COPY OF PROPERLY SIGNED PROPOSAL TOGETHER WITH THE EXECUTED FORMS.

REF NUM	SPEC NUM	DESCRIPTION	EST QNTY	UNITS	UNIT PRICE	AMOUNT BID
	203	Undercutting	333	CY	30.00	9990.00
2Λ_	251	Partial Depth Pavement repair, 1.5", 441 Type I surface, medium traffic, 448 acceptance (citywide)	267	SY	25.00	6675.06
213	251	Partial Depth Pavement repair, 2", 442 12.5 mm, Type B surface, 448 acceptance (citywide)	267	SY	28.00	7476.00
3	252	Full Depth Rigid Pavement Removal, and Flexible Replacement (as directed by Engineer)	631	SY	90.00	56,790.00
4٨	253_	Pavement repair, Local Street (citywide)	100	SY	106.00	10,600.00
413	253	Pavement repair, Arterial Street (citywide)	100	SY	125.00	12500.00
4C	253	Pavement repair, Local Street (Excluding Surface Coarse)	938	SY	45.00	42210.00
4D	253	Pavement repair, Arterial Street (Excluding Surface Coarse)	10	SY	200.00	2000.00
415	253	Polymerized Concrete Joint Repair	1,575	SF	12.50	19687.50
5	254	Pavement planing w/millings to contractor except as otherwise noted	20,351	SY	1.60	32,561.60
6	407	Tack Coat	335	GAL	2.25	753.75
7	422	Stress Absorbing Membrane Interlayer, Type 1	21,033	SY	2.65	55,737.45
8	423	Crack Seal, Hot-Applied, Type 2	30,000	LBS	1.70	51,000.00
9	441	Asphalt Concrete Surface Course, Type 1, 448 acceptance, PG64-22, medium traffic, 1-3/4" or 2" thick, placed in 2 lifts	1,225	CY	/58.00	193,550.00
10	638	Water/Gas valve adjusted to grade	27	EACH	52.00	1404.00
11	614	Traffic maintenance	11	LS	8000.00	8000.00
12	SS811	Manhole, Adjust to Grade "hard adj."	8	ЕЛСН	575.00	4600.00
13	Spec	Geogrid - Tensar TX5 or approved equal	156	SY	8.75	1365.00
TOTAL						516,900.30

Note: The items and quantities are projected, and may be modified or removed at the City's discretion without adjustment. Therefore, avoid weighting items because actual quantities could change from the engineer's estimated quantities.